Aerial Cam U

hit

- B-UCMSC/ B-UCMSF -

/
B-UCMSC80 ( 00° ~70° )

* This drawing shows B-UCMSC80 I

B-UCMSF80 ( 00° ~70° )
20+0.05 230+0.02 4-¢13-¢20
3 < 7 :(
58 16 ° E
© ¢ / \ XS
6.3 32H7 2-413H7
170+0.05

9

270

H Spring Specification

=
(3]
—
2
(]
D
3
(—
=]
—4 for B-UCMSF80

ZOiOf)S 130+0.02 4-¢13-¢20
6.3
© /S AR S
@ 'Q}‘ v
ol o g
38 & &
&, O\ oonany

40

DIE COMPONENTS

A AT ADDTTIONALE
Email : mk@asianadvanced.co.th



Aerial Cam Unit

- B-UCSC/ B-UCMSF -

w 0 S A B C D E F G
0 32.10 260.00 99.00 171.00 83.00 160.00
5 38.40 272.93 109.39 160.61 83.80 100 172.93
10 38.90 279.92 120.43 149.57 84.60 179.92
15 39.70 285.93 132.04 137.96 85.30 185.93
20 46.10 285.90 129.12 140.88 100.90 .90 195.90
B-UCMSC80 25 47.80 289.80 141.60 128.40 101.50 199.80
30 54.30 282.59 134.36 135.64 50 121.90 75 207.59
B-UCMSF80 85) 57.40 284.27 147.32 122.68 122.30 209.27
40 64.30 274.80 140.38 129.62 142.60 60 214.80
45 69.60 274.20 153.44 116.56 142.70 214.20
50 77.80 262.46 151.39 118.61 157.80 35 227.46
55 87.20 259.60 164.14 105.86 224.60
60 98.50 240.64 176.59 93.41 157.70 0 240.64
65 81.60 235.61 188.65 81.35 85 157.40 ) 240.61
70 86.40 227.83 195.53 74.47 30 157.10 10 237.83
Option Code Specification
K Dedicated key is attached.

(It is not assembled to the main unit.)

sSC The mount surface is extended forward in
the range of 0 to 60 mm (in increments of 1 mm).

weC The mount width is changed to 100 or
120.WC100 or WC120 to be ordered.

N16 The dowel pin holes for the cam holder
and cam driver are changed to @16H7.

Order No :
Catalog No. | | (W) |—| (0) | b
=
B - UCMSC 80 - 70 =
B - UCMSF 80 - 70 %
(1)
S
R
@
==
W Option of SC or WC
30 SC 100 or 120
(WC)

o
N

105

Sl L\ 43
Email : mk@asianadvanced.co.th

AAAAAAAAAAAAAAAAAAAAAAAA




=
)
=
B
o
8
3
=
S
=

Aerial Cam Unit

- B-UCMSC/ B-UCMSF -

Table of Components B-UCMSC 80

0=0~60 =65
No. Description Qty | Material and Remark No. Description Qty | Material and Remark
@ Cam Holder 1 | QT500 @ Cam Holder 1 | QT500
(2 | cam Slider 1 | HT250 (2 |cam Slider 1 | HT250
@ Cam Lower Driver 1 | QT500 @ Cam Lower Driver 1 | QT500
@ Cam Dirver 1 | QT500 @ Cam Dirver 1 | QT500
(5 | Slide Plate 2 | Q235 (5 | Slide Plate 2 | Q235
@ Positive Return A 1 |45 @ Positive Return A 1 |45
@ Positive Return B 1 |45 @ Positive Return B 1 |45
Cam Slide Guide 1 | Bronze Cam Slide Guide 1 | Bronze
@ Stopper Plate 1 | Q235 @ Stopper Plate 1 | Q235
Spring Guide Pin 2 | Q235 Spring Guide Pin 2 1 Q235
@ Safety Plate 1 | Q235 @ Safety Plate 1 | Q235
A2 |Key 1 |45 A2 |Key 1 |45
@ Stopper 2 | Urethane @ Stopper 2 | Urethane
Coil Spring 1 Coil Spring 1
@ Dowel Pin with Female Thread | 2 | @ 10 x 40 @ Dowel Pin with Female Thread | 2 | @10 x 40
(A7) | Hexagon Socket Brazier Head Bolt| 2 | LCS8-18 @ Hexagon Socket Brazier Head Bolt| 2 | LCS8-18
Hexagon Socket Head Bolt | 6 | M 8 x 20 Hexagon Socket Head Bolt | 6 | M 8 x 20
Hexagon Socket Head Bolt | 4 | M 10 x 35 Hexagon Socket Head Bolt | 4 | M 10 x 35
@ Hexagon Socket Head Bolt | 2 | M 10 x 30 @0 | Hexagon Socket Head Bolt | 2 | M 10 x 30
@) | Hexagon Socket Head Bolt | 2 | M 6 x 10 @ Hexagon Socket Head Bolt | 2 | M6 x 10
@) | Spacer 1 | Q235
@ Hexagon Socket Head Bolt 1 |M10x25
0=70
No. Description Qty | Material and Remark
(D | Cam Holder 1 | QT500
2 | Cam Slider 1 | HT250 @) | Stopper 2 | Urethane
(3 | cam Lower Driver 1 | QT500 Coil Spring 1
@ [Cam Dirver 1 | QTs500 (5 | Dowel Pin with Female Thread | 2 | 10 x 40
(5) |Slide Plate 2 | Q235 () | Hexagon Socket Brazier Head Bolt| 2 | LCS8-18
® |Positive Return A 1 |45 Hexagon Socket Head Bolt | 6 | M 8 x 20
@ |Positive Return B 1 |45 Hexagon Socket Head Bolt | 4 | M 10 x 35
Cam Slide Guide 1 | Bronze @0 |Hexagon Socket Head Bolt | 2 | M 10 x 30
@ |Stopper Plate 1 | Q235 @) | Hexagon Socket Head Bolt| 2 | M 6 x 10
Spring Guide Pin 1 | Q235 @ | Spacer 1 | Q235
@) | Safety Plate 1 | Q235 @3) | Hexagon Socket Head Bolt 2 |[M10x45
12 |Key 1 |45

'ASIAN ADVANGED TECHNICA GO, LTD.

ADDTTIONALE DIE COMPONENTS
Email : mk@asianadvanced.co.th



Aerial Cam Unit

- B-UCMSC/ B-UCMSF -

Table of Components B-UCMSF 80

0 = 0~60 0=65,70

No. Description Qty | Material and Remark No. Description Qty | Material and Remark
(1) | cam Holder 1 | QT500 (1) | cam Holder 1 | QT500
(2 |cam Slider 1 | HT250 (2 |cam Slider 1 | HT250
@ Cam Lower Driver 1 | QT500 @ Cam Lower Driver 1 | QT500
(@) | cam Dirver 1 | QT500 (4) | cam Dirver 1 | QT500
@ Slide Plate 2 | Q235 @ Slide Plate 2 | Q235

@ Positive Return A 1 |45 @ Positive Return A 1|45

(@ | Positive Return B 1 |45 (@ | Positive Return B 1 |45

Cam Slide Guide 1 | Bronze Cam Slide Guide 1 | Bronze
@ Stopper Plate 1 | Q235 @ Stopper Plate 1 | Q235
Spring Guide Pin 2 | Q235 Spring Guide Pin 1 | Q235

A1) | Safety Plate 1 | Q235 A1) | Safety Plate 1 | Q235

42 | Key 1 |45 42 |Key 1 |45

@ Stopper 2 | Urethane @ Stopper 2 | Urethane
Coil Spring 1 Coil Spring 1

@ Dowel Pin with Female Thread | 2 | @ 10 x 40 @ Dowel Pin with Female Thread | 2 | @10 x 40
@ Hexagon Socket Brazier Head Bolt| 2 | LCS8-18 @ Hexagon Socket Brazier Head Bolt| 2 | LCS8-18
Hexagon Socket Head Bolt | 6 | M 8 x 20 Hexagon Socket Head Bolt | 6 | M 8 x 20
Hexagon Socket Head Bolt | 2 | M 10 x 35 Hexagon Socket Head Bolt | 2 | M 10 x 35
@ Hexagon Socket Head Bolt | 2 | M 10 x 30 @ Hexagon Socket Head Bolt | 2 | M 10 x 30
@ Hexagon Socket Head Bolt | 2 | M6 x 10 @ Hexagon Socket Head Bolt | 2 | M6 x 10
@2 | Spacer 1 | Q235 @ |Bushing 1 | Q235

@ Coil Spring 1 @ Coil Spring 1

@ Hexagon Socket Head Bolt | 2 | M 10 x 25 @ Hexagon Socket Head Bolt | 2 | M 10 x 25
@ Spring Washer 2 | M12 @ Spring Washer 2 | M12

Aerial Cam Unit

ADDTTIONALE DIE COMPONENTS
Email : mk@asianadvanced.co.th

AAAAAAAAAAAAAAAAAAAAAAAA



Aerial Cam Unit

- B-UCMSC/ B-UCMSF -

Working Force kN(tonf)

Spring Force N (kgf)

Catalog No. | (W) | (9) Trzvel SEE I AlEeel s T°ta'|¥ve'9ht
Working Working | |nitial Load | Final Load g
Force Force
(one million strokes) | (300,000 strokes)
00 | 321 25.9
05 | 384 26.3
10 | 38.9 26.6
15 | 39.7 25.1
20 46.1
25.3
25 47.8
270.6 1623.6
(27.6) (165.7)
30 | 543 1274 3250.0 ZEZ
BUCmSe 39.2 o (13.0) (331.4)
- (4.0) (8.0)
80 | 35 | 574 I Ty 23.4
B-UCMSF (5.6) (11.2)
40 64.3
22.4
45 69.6
=
(-]
=, 50 | 77.8 21.6
=3
(]
QD
= 55 | 872 21.7
[ —
-
=
60 | 985 23.2
324.7 1461.2
65 | 81.6 (ggzg) g24596.1o) 23.7
(10.0) (331.4)
?401528 (116625362)
70 864 159-.3 3256.0 23.9
(16.3) (331.4)

'ASIAN ADVANGED TECHNICA GO, LTD.

ADDTTIONALE DIE COMPONENTS
Email : mk@asianadvanced.co.th



—
—
=
c
X
<
-
@
=

- B-UCSC/ B-UCMSF -

Cam Diagram

Hun wey jeLay

O o0]
[9AeI] SS31d
6°8¢] \‘
o,
Joe)
™

[A17

[oAel] Sseld

[9ABI] SS81d

0§

o%/@
|oAel] ssald

vl

OQK

|oAel] ssald

u % INZS o »7 N ° 3 j
@ = ® g y, & T 8-
e
o o N o \ff o \// 2 AA@/_
o & Si B =
il 8| =0¢
_o>mwmlw_ |oAel] Sseld
8'0r
i : i
- Lo
S vl o Y/ :
2 £ 2 s ¢ XS T fo®
SR \_— /& <@ A,w/_
o b ¥ ¢ :
o I S 3 8
o A ® ° -
g
8ARI] SS8l [9nel] ssald s METg
vt ssbg L i |oABI] SSOId
J% | _ -
—I3 A
S > g3 A\ g0 LV % ¥
% © b= & \ \/»%
o o 2 ¥ ¢ An@
) = @ < e
o 1 3 4 6

'y

ASIAN ADVANGED TECHNICA GO, LTD.

Email : mk@asianadvanced.co.th

ADDTTIONALE DIE COMPONENTS



Aerial Cam Unit

- B-UCMSC/ B-UCMSF -

Spring Diagram B-UCMSC
00° 05° 10°
1623.6 1623.6 1623.6
(165.7) \/\ 1165.7) \ (165.7)
14129 J--- 1448.0 N 1450.8
(144.2) (147.8) (148.0)
2706 | 1o 0N 2706 | ________| oS 270.6
(27.6) /L (27.6) y (27.6) y 1
Length é/t Final Load 90 em7.8 Length a/I Final Load 90 em6.5 Length at Final Load 90 em6.4 |
Length at Initial Load 140 Initial Deflection 10) Length at Initial Load 140 |nitial Deflection 10 Length at Initial Load 140 Initial Deflection 10)
Free Length 150 Free Length 150 Free Length 150
[ TL35-150] [ TL35-150] [ TL35-150]
15° 20° 25°
1623.6 1623.6 1623.6
(165.7) \/\ (165.7) \/\ (165.7) \/
14535 |7~ 14778 1°-- y 1483.2 "7 --7777
(148.3) (150.8) (151.3)
2706 | ________| B 2706 | ________] B B 2706 | Lo
(27.6) v (27.6) I (27.6) v 11
Length at Final Load 90 em6.3 Length é/t Final Load 90 emb.4 Length &t Final Load 90 emb.2
| ength at Initial Load 140 Initial Deflection 1 Length at Initial Load 140 Initial Deflection 10| Length at Initial Load 140 Initial Deflection 10|
Free Length 150 Free Length 150 Free Length 150
[ TL35-150] [ TL35-150] [ TL35-150]
30° 35° 40°
1623.6 1623.6 1623.6
(165.7) (165.7) (165.7)
14994 "7 77777 1504.8 1518.4
(163.0) (163.6) (154.9)
2706 | Ll 0N 2706 | 1)l N 2706 | ________] N
(27.6) y 1| (27.6) y | (27.6) ¥
Length at Final Load 90 em4.6 Length a/t Fingl Load 901 em4.4 Length aq Final Load 90 em3.9
Length at Initial Load 140 Initial Deflection 10| Length at Initial Load 140 Initial Deflection 10 Length at Initial Load 140 Initial Deflection 10]
T
Free Length 150 Free Length 150 Free Length 150
[ TL35-150] [ TL35-150] [ TL35-150]
45° 50° 55°
1623.6 1623.6 1623.6
165.7) \ (165.7) (165.7)
1526.5 iy 16373 - - o773 1645.4
155.8) (166.9) (167.7)
2706 | ________1 22706 | L)l 2706 | ________| N
(27.6) I (27.6) v 1| (27.6) I
Lengmgq Final Load 90| | em3.6 Length at Final Load 90 em3.2 Length é/t Final Load 90 em?2.9
Length at Initial Load 140 Iniial Deflection 10 Length atInitial Load 140_] Iniial Deflection 10 Length at Initial Load 140 Inital Deflection 1
Free Length 150 Free Length 150 Free Length 150
[ TL35-150) [ TL35-150] [ TL35-150)
60° 65° 70°
1623.6 1461.2 1623.2
(165.7) (149.1) (165.6)
1556.2 1393.1 1553.9
(158.8) (142.1) (158.6)
270.6 3247 | ] B 4068 | ________| N B
(27.6) y L1 (33.1) y @1.4) y
Length at Final Load 30 em2.5 Length &t Final Load 80 em2.1 Length a/t Final Load 60 em1.7
Length at Initial Load 140 Initial Deflection 10 | ength at Initial Load 115 Initial Deflection 10 Length at Initial Load 90 Initial Deflection 1
T
Free Length 150 Free Length 125 Free Length 100
[ TL35-150) [ TL35-125] [ TL35-100)

B AT oo
. Email : mk@asianadvanced.co.th

'ASIAN ADVANGED TECHNICA GO, LTD.



Aerial Cam Unit

- B-UCSC/ B-UCMSF -

Spring Diagram B-UCMSF
00° 05° 10°
3250.0 3250.0 3250.0
(331.4) (331.4) (331.4)
FZZZ22ON FZZZZ2ON r-—-=
2100.0 1625.0 1650.0
(214.1) (165.7) (168.3)
1274 | | j 1274 | | | 127.4
(13.0) (13.0) (13.0)
LenghatFnd Load 47| | e=7.8 LengthatFiralLoad 47) |_em 6.5 LengthatFralLoad 47) |_em 6.4
Length at Initial Load 87 Initial Deflection 13 Length at Initial Load 87 Initial Deflection 13 Length at Initial Load 87 Initial Deflection 13
Free Length(For Initial Load 100,For Final Load 60) Free Length(For Initial Load 100,For Final Load 60) Free LengthiFor Initial Load 100,For Final Load 60]
[ TF25-100] [ TF25-100] [ TF25-100])
[ TH35-60 ] [ TH35-60 ] [ TH35-60 ]
15° 20° 25°
3250.0 3250.0 3250.0
(331.4) (331.4) (331.4)
g N g N g N
1675.0 1900.0 1950.0
(170.8) (193.8) (198.9)
1274 | _ ] B 1274 | _ | i 1274 | _ N
(13.0) (13.0) (13.0)
Lengthat Final Load 47| | em 6.3 LengthatFirelLoad &) | _em 5.4 LengthatFndlLoad 47) |_em 5.2
Length at Initial Load 87 Initial Deflection 13 Length at Initial Load 87 Initial Deflection 13 Length at Initial Load 87 Initial Deflection 13}
Free Length(For Inital Load 100,For Final Load 60] Free LengthiFor Inital Load 100,For Final Load 60) Free Length(For Initial Load 100,For Final Load 60)
[ TF25-100] [ TF25-100] [ TF25-100]
[ TH35-60 ] [ TH35-60 ] [ TH35-60 ]
30° She 40°
3250.0 3250.0 3250.0
(331.4) (331.4) (331.4)
g N FZZZ2N g N
2100.0 2150.0 2275.0
(214.1) (219.2) (232.0)
1274 | _ | 1o 1274 | _ ] B 1274 | ____| B
(13.0) (13.0) (13.0)
LengthatFralLoad 47) |_em4.6 LengthatFd Load 41| | _em 4.4 LengthatFindl Load 47 | em 3.9
Length at Initial Load 87 Initial Deflection 13 Length at Initial Load 87 Initial Deflection 13 Length at Initial Load 87 Initial Deflection 13
Free LengthiFor Inital Load 100,For Final Load 60) Free LengthiFor Initial Load 100,For Final Load 60) Free LengthiFor Inital Load 100,For Final Load 60)
[ TF25-100] [ TF25-100] [ TF25-100]
[ TH35-60 ] [ TH35-60 ] [ TH35-60 ]
45° 50° B
3250.0 3250.0 3250.0
(331.4) (331.4) (331.4)
g N -= FZZZ2ON
2350.0 2450.0 2525.0
(239.6) (249.8) (257.5)
1274 | _ ] § 127.4 1274 | | i D
(13.0) (13.0) (13.0) =
leghatfrdled | | em3.6 LonghatFraLezd 47| | _em 3.2 lenghatFindload | | em?2.9 =
Length at Initial Load 87 Initial Deflection 13} Length at Initial Load 87 Initial Deflection 13| Length at Initial Load 87 Initial Deflection 13 =
Free LengthiFor Initial Load 100, For Final Load 60] Free LengthiFor Initial Load 100,For Final Load 60) Free Length(For Initial Load 100, For Final Load 60) %
[ TF25-100] [ TF25-100] [ TF25-100]) E
[ TH35-60 ] [ TH35-60 ] [ TH35-60 ] [~
=
60° 65° 70° é’
3250.0 3250.0 3250.0
(331.4) (331.4) (331.4)
I —— | — N e
2625.0 2725.0 2825.0
(267.7) (277.9) (288.1)
1274 | _ ] § 980 | _____ N 1593 | ___ ] i
(13.0) (10.0) (16.3)
LenghatFnd Load 47| | _.em 2.5 Lengt atFinal Load 47| | em 2.1 LenghatFndlload 47| | em 1.7
Length at Initial Load 87 Initial Deflection 13} Length at Initial Load 72 Initial Deflection 8} Length at Initial Load 67 Initial Deflection 13
Free LengthlFor nitl Load 100,For Fina Load 60) Freg Length(For Iitial Load 80,For Final Load 60) Free LengthiFor Intal Load 80,For Finl Load 60)
[ TF25-100] [TF25-80] [TF25-80]
[ TH35-60 ] [TH35-60] [TH35-60)

ADDTTIONALE DIE COMPONENTS
Email : mk@asianadvanced.co.th

vy 49

ASIAN ADVANGED TEGHNICA GO, LTD.



